i el e R

D.ZU54 Page 2 of 24

UP Police Constable 23 Aug 2024 2nd Shift Answer Key Unofficial
e g 3 . .
L 3maa 37 sgftrat =1 qnifar @ Shedish s
IL fehior 37 saferdl ) gwrtan & SRS s 2|
1. =7 39 safeal ) qoitar @ 9 e s & .
IV. 3937 safwat &) qufar & 9 -y .
1 9 12 9% Sifaa b o s wafvwait s sir sretorer 3 fafirsy v 301 SfATEC
o st et atirsh aer w 8 9<]

In the given diagram :
I. Rectangle represents persons gho know English.

II.  Triangle represents persons who know Marathi.

Il.  Square represents persons who know Telugu.

IV.  Circle represents persons who know Hindi. ficiency among the
The regions labelled from 1 to 12 represent various combinations of language Protic

individuals.

How many individuals can speak Egglish exclusively ?

8 2 —> English (30
Marathi (FdY) 4
3 > o3
¢
7 2
9
8 11 Hindi (&)
10
—> Telugu (A<D
(A) 19 B) 5 8 © 17 @) 12

&

afg SR FIsFT A, F, K, P, 2 O8re = s 2 ?

flettersis A, F, K, , what comes next ? ‘
ii t)he ;equence o praail 4_ o, o W
e e ot e et s, e Saer i e vt & St R e e 7 v e 2
Select the option in which the nur@ers share the same relationship as that shared by the given pair of
numbers.
185:199 _
(A) 126:134 (B) 178:187 | 1(C) 139:153 (D) 89: 106
T fifire e &, “LEARNING’ &t *160° & &9 # foran smar 2 | sq #is & PREPARATION" 33 forar
S ?
In a certain code, ‘LEARNING’ is written as *160°. How will ‘.PREPARATIONs be Written in that code 7
(A) 248 (B) 124 (C) 266 D) 133 .
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5. e st i st e f e 7 0 ST R e o st s 8, 3 I s

Arrange the following words as per their order in an English dictionary and choose the on®

first : . 1q°ad
3 s . ror: HANOAS
xl)rdb}t:::l.ol:::dspnng\ }:gl;dol:::dspﬁ"gg (C) Handstand (D) Hardboard
6.  sEen g AR o
Complete the series. <
2,6,12,20,30.42, .
(A) 65 (B) 56 ® © 4 @) 31

7. aRH +1Ww%H,IﬁW%;H—Immf%H.lWW?%GﬂTHxIWM%H,Iﬁﬁ%,H’fW

dafrmwr e fry, pRaAR?

If H + I means H is the sister of I; H b
which of the following means that J is the daughter of P? -
(A) P-QxJ-M  (B) p+Q—ngé (C) P-QxJ+M D) PxQ—-J+

o g fershedt & & e wee g o Ry e % PARANORMAL’ E G wmm@m@ﬂﬁa‘

TET ST ST GHaT | 3 .
Choose the word from the given altematiw that cannot be formed using each letter of the given WOT

‘PARANORMAL’ only once. <
(A) NORM (B) PALM C
Jaen i qE e gE ATl @
Find the missing number in the series.

20, 35, 60, 105, 190, . ,

(A) 225 (B) 280 (C) 560 (D) 355
frafafea & & wi-a1 st 7o, T3 3 & 9 & Gy ) oo e e Y v 2 0
Which of the following diagrams best illusggtes the relationship between Earth, Sea and Sun ?

(A) ®) o OO
Cg @ 0 ®

ST i & 98 Ty jg %

f1,
_ 1 means H is the brother of I and H x I means H is the mother 0

(C) ROAR (D) RARE

(A) S B) & < © ¥ ‘
Lion is to in Den as Spider is to [@:) D) SHETT @3’)
(A) Web (B) Hill ©) Tree

ﬁmzoﬁ.ﬁﬁﬁnmwmﬁ,ﬁrmmgw
31 98 S @ 3 40 o, Tl B | Ry o e O TR, Rt g g AR '
o ook T ot .mmﬁgﬁma%? M Tt 301ﬁ.aa?ﬁ%l

Priya stz;rtegowalking towards east for 2() m, then too | N (D) 65H.
N ) |
:;Slkego‘!’; . Now sh:Bt;lm;(;'lght and walks 4() How f:rn 1(: Walked for 49 m, then turneq
~70m
S ©) 60m Priva from her starting point 2 and
e (D) 65m
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13. ﬁﬁmwmﬁwmmmww&ﬁﬂﬁmgﬁqsﬁgg

¢ figures ¢
Study the provided figures carefully and choose an option from the answe
pattern observed in the problem figures.

(1) [ O] () | | ()«
rc|ci|rcjc C |

Wqé’@ﬂqaﬁ

I T TE@AT | | maintains the

l‘- M
Study
next v

| 2
Qs
I 1 1 v v o
(A) (H (B) (T) (&) )4,( (D) )f(
21
14. @mﬁmmlzﬁﬂiﬁaq&wﬁaﬁtw@ﬂtﬁqaﬁa‘nw7mﬁﬁmm
TT3iheT 9T 319 fohg s fr sl R 2
A @ (B) ufim (C) fau (D). T

A cyclist rides 12 kilometres west and then turns right and rides 7 kilometres. In which d
cyclist now travelling ?

(A) East . (B) West ofiC) South (D) North
- . O
15. U TRe 8 el IX & SH & S84 A, B, C, D ¥dn
| et WA | dAgg | dEC | dwED |
T e & STl S 28 3| 17 27
il N 14 12['@;]) 8 13
SAferT anfier wier § Iefiol S
H é 6 17 9 15 i
e Tter 7 STl S ;
|
ST et 7 el B 64 55 46 76 |
ST et F & frg A ¥ Sivl wiiwra T STERsR ? )
(A) FHEA (B) ¥HH B (ZE) ¥ C (D) FTHD
A school has four sections A, B, C, D of Class IX sggents
Result Section A Se‘é‘?‘on B | Section C | Section Dj
Students failed in both exams 28 ﬁ 17 27
Students failed in half-yearly 14 @h 8 13
but passed in annual exams ]
Students passed in half-yearly 6 17 9 15

but failed in annual exams

I

—_—

Student passed in both exams 64 55 46 76

Which section exhibits the highest pass percenlagc in either of the two examinatiopg 2
(A) Section A (B) Sect]on B (C) Section C

(D) Section D

irection is the

r=Toulr
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19.
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16. s o are o e v e fos fet A A w@ﬁamﬁ mﬁa’ﬁgom T B reviovs yea
Study the graph and find what is the maximum percc@gc increase of tea
next year. e
:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.:.".".:.:.:.:,:.:.1.;.:-:-"{-.{-;z{ B i w
2023 Errrtr s o8
2022 L L o e D
............................................................................ ®
s0n1 I
20 25
2020 2021 2022 20
milk (39) 14 15 16 g/
B coffec (1) 14 13 16 187
Il tea GT) 13 15 17 22: g
(A) 10% (B) 30.25% (CK]17.65% (D) 20%
5 17S Fre W7 1 I T P SHEAn B S < o F AT, X Y T T,

__° L__:_’ ﬁm% 3ﬂ( 6_:_9 ‘+’ ﬁm% l
Simplify the following expression using the given code language, where ‘+’ represents ‘X, X’ represents
‘—*_<—’represents ‘+’ and ‘*’ represents “+.

9+4-6x6+38

(A) 16 (B) 8 (C) 12 (D) 24
et et e i frg T et T ST T g |
Choose the next figure that continues the pattern. o -
O [ KON KB &
KRS » 2
o
I 11 111 v <]
D r
- 04 ®) 99 @® Qo ®) Q’
e 0 IR
Complete the analogy :
145 15%::532:2
@A) 32° ®) 52° () 352 D) 522
pzuza T Pagesofad T
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20.

21.

22.

23.

24.

25.

ﬁmm@mwwm%wW@wmm%mm“
?

= @ mm% (€) = (E=m=) (D) I (T +
If you have a regy] . is
cross-section ? gular pentagonal prisntAnd you slice it parallel to its bases: what shape is
(A) Hexagon (B) Rectangle ol (C) Square (D) Pentagon
ST 5 ST HIT AT & 2 ]
What comes next in the secquence ? ®
A.C.E.G,

(A) 1 (B) H ©) I (D) K
T A W ' .

ST TS T T | ek 1 0 o e s o 29 gt s e o7 o & | T WHE 38,8 o

MK REm & |‘MW@wm%mﬁgmﬁ§mq@q 9

el e 3 e e, ety g i 8 |

(A) 83RK (B) 33fRK O (C) 83RE (D) 3 3NE

Four cards are placed on a table. Each car@Mas a number on one side and a letter on the other. The cards
on display show 3, 8, E and K. Which card®hust be turned over to satisfy our requirement ?

“If a card has a vowel on one side, then it hagan even number on the other side.”
(A) 8andK (B) 3andK (C) 8andE (D) 3and E

T ASH @tmmgﬁﬁwmg‘%a@ﬁﬁmﬁmﬁ?ﬁw%ﬁ% I fafew o=
qTad! 1 39 Sl 4 FT AT @ 2 |

) =& ®) (©) =l (D) =&

Pointing towards a girl, Vipin says, “This girl is the daughter of the only child of my father.” What is the
relation of Vipin’s wife Parvathy to that girl ?

2%

(A) Daughter (B) Mother o (C) Aunt (D) Sister
1w U HIT : g

m:m::ﬂﬁﬁﬁﬁﬁq: ? ol 2‘
(A) Ifhee @B wWEm ¥ (O T (D) T

Complete the analogy : <]

Camera : Photographer :: Microscope : ? D .

(A) Architect (B) Chef ® (C) Pilot (D) Biologist

e st R T FA € ? o

(A) S ¥ UTd Thed € (B) 2N} gard aig A & 3
© IR RCGEA R (D) R HSet &

How are dolphins and whales similar ?
(B) Both breathe air

(A) Both have scales
(C) Both lay eggs (D) Both are fish :

B e e e e



26. R fien i fsit o) o s fifie

Count the number of triangles in the given figure.

o
Aa) 12 B) 16 (cgls (D) 10

o8
27. Rt A, e gfe @ s B aa | %

Out of the figures given, choose the one that will completg the series.

cinlcie
O e[=]

28 PEddfwwya A
% Find the odd one from the following :

T ] <
PR

29, &7 sngha i R TR € ?

How many rectangles are there in the given figure ?

N

=
= o

(D)

[@_‘hﬂa&&m&

(A) 13 (B) 14
30, el i STl §E I i |

Find the next number in the series.

62, 55,48,41,

D) 17

@ A &&SO&
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31.

1 FHhiferg fa5, WW(X)ﬁﬁqmzﬁﬁﬂqma@ﬁmmm%I

3
Find out which of the figures can be formed from the pieces given in the first figure X)- ;

CHJ

o
(55
o
(A) \y (B) 2 ©) (D) X
32, 3 SR A S = e e F o 3 g e
Choose the letter pair which is different frd@ others in the group.
(4) GB (B) TO (C) OK (D) MH
33, S@AT: 3.5, 11,29, 83, -
PICHIR mﬁwwﬁ’ﬁ ?
Series : 3,5,11,29,83,
What is the next number in the series ?
(A) 283 B) 253 o (C) 233 (D) 245
34, TS U AE R ARG A A e Bt aitrz o6 ot | wiwif, 4 5@ 1T SR IROTHEEY T
T 1T 4 AR 1 AT 2T T | AT AT S 1t S bl e o oft 2
A few students went on a trip and the tot ount planned to be spent was T 96. However, 4 students did
not turn up and as a result the remaining st@dents had to contribute ¥ 4 extra. The number of students whe
attended the trip was :
(A) 8 B) 10 ©) 12 D) 6
35. =R TR-EE RO E, o & o sww- -Foreht ©7 7 v R €, Tl O Sve-aE S |
STEL- mﬁaﬁq |
Four letter-clusters have been given out of which three are alike in some manner, while one is different
Choose the odd one.
(A) HILN (B) PRTV (C) OQRT (D) BDFH
36. Tawm @ Sifse
Find the odd one. o
delsjek
o8
\ w[d 3 e [0
w10 ) 4
37. @qﬁartﬁéuazzm B,C,D,E,F&!B, Qréa%.@fﬁr-fc,sﬁgwﬁ% | AR C fmfia sier 2 |1 E, C
A WERID, AR AARIF, AT WER | @ F'*B“‘" “l'%f'“ “a““t AN
A family consists of 6 members A, B, C, D, E, is the son 0 ut C 1s not the mother of B,
are a married couple. E is the brother of C. D is the daughter of A. F is the brother of A_ Horwoman;z\ f:g]ilg
members are there in the family ?
A) 1 ® 2 @3 (D) 4
) S Page8of2d  TTTTTee-——eeo .




45,

afe 6 3T F w90 R, dY 10 e A FET RITR 2

If the cost of 6 mangoes is T 90, what is the cost of 10 mangoes ?

(A) - T120 (B) %130 » (C©) T150 (D) T160 gy dl

TS TRT 7 P € 1,764 0y 2y anfifer fedt 8 foram S &, Rredy anfifen sy S%Wmi i€

YT A 7g TR fot oft 2 d interest
oul

A sum of money is paid back in two annual instalments of T 1,764 each, allowing 5% comp
compounded annually. The sum borrowed was :
(A) 3,280 (B) ¥3,220

C 3R B T 1 # FAW: 13ﬁq§3ﬁtz4ﬁ=ﬁ%m%lvﬁﬁ8ﬁﬁwq&mm%3ﬂtmcﬁ

T BAMY FE W R Rt i qu e o2
2 © 8;fwm ©®) 107

A) st (B) 5% fa oS el
: e
C and B can do a work in 18 days and 24 dayy respectively. They worked together for 8 days and

C left. In how many days did B finish the remétinjmg work ?1

(A) 5 days ®) 5% days @ (© 87days (D) 10 days
A 3R B 5% T R # 75 Rt § o ad § | P e e P e A B 0 e I IS
3R B 3 9 i 23 et & g o A g B o T ot o ama o1 faa 2

A) 26f= B) 19f7 ©) 18fa D) 25%=

A and B each can do a work in 75 days. They began the work together but A left after some time and B
completed the remaining work in 23 days. After how many days of the start of the work did A leave ?

(A) - 26 days (B) 19 days o3 (C) 18 days (D) 25 days .
e v T 25% G B S | e R 20% e R TR A R 10% et e T | A hwa d
it gfg FT R 2 ' e

The increase in the price of a certain item was 20%. Then the price was decreased by 20% and then again
increased by 10%. What is the resultant increase;in the price ?

(A) 5% (B) 10% (©) 12.5% (D) 15%

AT T 180 Sf el 37 T 280 wfd forcitypr <t amedt &t e Y =y h forwr oo # foreman s fe6
T fisror ) = 320 SR fopeiome TS 9 W 20% 1 AT a2

In what ratio must the two types of tea at T 180/kg and ¥ 280/kg respectively be mixed so that the obtained
mixture sold at ¥ 320/kg earns a profit of 20% ?

(A) 3:13 (B) 4:13 C) 1:14 D) 2:13
A 3T B i f A < % offa S 2 ;3 ¥ ofk sufT A W vieer q wE B B

EGY
15 forte s wwa e & | af A TE TR & <gRg e, A 39 0 e e qﬁa;qm?m"ﬁm%
(A) 225 ®) 35 O © 215 e '*a:la)') 45ﬁq=|z'

The ratio between the speed of travelling of & dBis2:3
. .. :3and .
the time taken by B to reach a destination, If"g:ad walked at dm?b;leer etfl;zrz I;::;lklelz vIVSl (I,Irlllgmi\tes 1I(rllore

’ Ould he

(€) 3,200 (D) %3,240

than

taken to cover the distance ? have
(A) .22.5 mintues (B) 35 mintues <] (C) 21.5 mintues ‘

e ST WO ST T 5% 1feh & 3 7y 3\ s e ) 45 mitines

A.. sum of money bc.ecomes three times at 5%, Pef)annum - . aw] H’-‘I’(@Tﬁ?ﬂ?ﬂ %W 6 T" éf

times in the same time ? ' simple interest. At what rate %, will it b et ?
(A) 10.5% (B) 14% ’ _ €Come Six

©) 11%

-
———————



46.

47.

48.

49.

50.

51.

52.

S3.

3 g s oy e e P s o e 3 3 R L Sy
1-1-1983 FT T 380 ¥y W& # i 1-10-83, 1-10-84 S 1-10-85 T T 40 ¥ T

1'1'86,ﬁmﬁm%,ﬁaanﬁmﬁwﬁﬁmmm%? . last 3 years of}; Mo
A man’s pension on retirement from scrvice is equal to half the average salary during the 83, 1-10-84 :

service. His salary from 1-1-1983 is € 380 per month, with increment of % 40 due on 11063, R A
1-10-8S. If he retires on 1-1-86, what pension does he draw per month ? (A)
(A) T205 (B) %215 (C) 7225 (D) %230

afe Tt FEA 1 70%, 0.35 &, 9 39 ST F 120% 776 D0 | i
If 70% of a number is 0.35, then find 120% of that number. | "
(A) 6.4 B) 7.2 (CH6.0 (DY (A

T IR X 25% 1 ST iiver 3 R e g ot ke aif oy a3t AT 16% F 2
>

SHHT AR T fefaam g 9 .

A trader marked the price of a commodity to include a@)ﬁt of 25% but allowed 2 discount of 16% on tk
marked price. What will be his actual profit ?

(A) 16% B) 25% 5% (D) 9%

e e Rt 1 30 Wi 3 R sreiaoft e 40 1R | e aees wR SE ZAH I 100
iftr & 1 2R 5 3N it wmiver T v g, < g 28 it 2w sfve 38 T & | A FETS! F 7w

TR FTR 2

The batting average for 30 innings of a cricket player is 40 runs. His highest score exceeds pis ]qwest SCOR g6
by 100 runs. If these two innings are not included, the average of the remaining 28 innings is 38 runs

Then the lowest score of the player is :
A) 19 (B) 18 (€) 20 (D) 17

e FAHTdT T feri ek 3 2000 ZHST A T 50 R R g 7 & I e 1 = AT R | IH A 3

D

amm,aﬁmquﬁmmaﬁﬁw@m&im%ﬁﬁzs%wmm|€rt«ﬁﬁ

) | —

50% TIZeht kT Srefieht T feam mam ot | o Fwfar At T ?
A manufacturer undertakes to supply 2000 pieces of aBarticular component at ¥ 50 per piece. According
to his estimates, even if 5% components fail to p e quality test, then he will make a profit of 57.

25%. However, as it turned out, 50% of the componﬂ)ts were rejected. Then what is the loss to the

manufacturer ?
(A) 24,000 (B) 26,000 . (CIB)X 28,000 (D) ¥30,000 58

TF FLH T 6,400ﬁaa%rqtaﬁuaa$rzo%ﬁmﬁ§§|a‘ra;rmrmn§zrw%?

By selling a car for T 6,400, Mr. Rao lost 20%. Th¢n the cost price of the car is :

(A) %7,200 (B) ¥7,680 (C) %8,000 (D) T8,400
@wgﬁm—m@@tﬁnsoﬁmhﬁt. FOFEEA RIS | AR TR sgo A Jmar @
ST T TG 1T AT AT BHaT € | TR 1 b e T 7

A used two-wheeler-dealer sells a scooter for 460 any makes. some loss. If he had sold it for ¥ 580, his
profit would have been double of his loss. What was thggost price of the scooter ?

(A) %520 (B) T540 (CPB 480 (D) %500

o T AT % 8oﬁnﬁladéﬁw'um%mwn'%12d%§aa?ﬁ%|%naaﬁmﬁqﬁ,%: 6
(A) 6.5 /e (B) 5.5 farri/acT (.6 feri/erer (D) 7.5 Frefi/eiar
A boat goes 80 km upstream in 16 hours and 72 km do¥8lstream in 12 hours. The speed of the boat in still

water is :
(A) 6.5 km/hour (B) 5.5 km/hour (C) 6.6 km/hour (D) 7.5 km/hour -



S g =l nila o 0 “ (R0 v o1 1 204 0 A A ey g,
UEERURETE IO ACTTE RN
(A) 12 Rl (1) 3 A © 7 gy

RLLTHR
LR ETT [SETRIATR LRI *

) 1 \‘ Al e

A person can row 22 l‘ K i houe (st water and ho s (0 0 1k N i \
) \ ~ ' Wito un | . ;
tow down the stream, The speed ol the stronn i ‘%’) ONR 1O TOW up w8 1o
w i)
(A) 12 knv/le (1 3 ke (V7 oy (1 1!
ol ) k/he
12 3 - N3 '
85, S T : 1 R Qe (1) N IR (]
Find the HCE of I~‘ 3 . -“. . . ®
23 4§
(A) B - i g O 5
3 - o0 50

45 40

6. e vt i o s oh R &1 15 AR g ) o, S S % w2 aftg st
20 & | 3 e 4w SR & el e e o7 gy s SRy 6 e e &1 R
e s v A Rre vl &) O
There are Senior officers and Secretaries in an oflice. I 15 Seceduries went on leave, then every Secretary
has two Senior oftficers. After that 45 Senior officers went @leave and now every Senior officer has

5 Secretarics. Then find out how many Secretaries were there iM¥lally.

(A) 30 (B) 40 © 25 < (D) 35
§7. 285, 510, 1440 T TETH TG (HCF) 10 AT | H

Find the HCF of 285, 510, 1440. ®

(A) 14 (B) 15 () 16 (D) 17

58. UDHRmaﬁﬂﬁﬁmﬁw)ww-wa@zwﬁ@%w@ﬁ%m&m%m%?
(A) AT 10 (B) STT 14 (C) =% 18 (D) T 25

Which article of the UDHR (Universal Declaration of Human Rights) guarantees the right to seek asylum

from persecution ? _
(A) Atticle 10 (B) Article 14 ©) Articgls (D) Article 25
59, whgFqie R 7S
) PR el dRasiTdR @) e (A-afes TR
(€) -t ke (- ©) R o (-l )
The full form of NPA is .
(A) Non-Performing Assets (B) Non-Public Assets
(C) Non-Package A.C“O“ (D) Non-g')fonning Actions
60, IR ¥ for vt o S e WA S 0
() s (B) I (C) R (D) ot
In which dist‘rict of Uttar Pradesh is the *Shera Dance® celebrated ?
(A) Amethi (B) Ayodhya (C) Lalitpur (D) Bijnor

P el il —————— ikl ek )
- - - -————-—-- -
“—------_.._——---——————-----"‘ N



61.

62.

63.

65.

66.

67.

ST AT wteqor gfcrsier w1 qeT SRy TR 2

(A) T BRRIRT & Ieurey T yfyey

(B) WY Fit o riferqut Suaih aht argram 31

(C) HIN[ET TRHTY] IRATTR ) ¥ AT

(D) TR it =1 At 3wt 3 fore et oo Rrepiet o ey

What is the main purposc of the Comprehensive Test Ban Treaty ? od

(A) Ban nuclear weapons production O

(B) Promote the peaceful use of nuclear energy 3

(C) Reduce existing nuclear arsenals g

(D) Ban all nuclear explosions for both civilian and military purposes o8

S JEhI o 81 & Srfovrdt 3 Rovw sram v s 2 2 <

(A) Qe (B) T © frmEes) [JD) @
Arjuna Award is conferred for achievements in the field of : )

(A) Sports ' (B) Dance (C) Theatre (D) Literature
$hea fam shiem foamaht arremeranr 2 9
(&) TR TR () PIWEREE
(C) THA. reamft (D) AT HA™ A
‘India Wins Freedom’ is the autobiography of whom ?
(A) Rajendra Prasad (B) Subhash Chandra e

(C) L.K. Advani (D) Abul Kalam Azadw
2016 % fersfiertor & a1e RBI 1 fahe e 500 3k 1000 T % I ST §T B

What percentage of 500 and 1000 rupees notes was received by RBI after thax®P16 demonetization ?

(A) 98.96% (B) 95.65% (©C) 93.27% QD) 97.45%
1993 & O ATt Rl W forg e 3 T AT T | 0]

(A) TRISH =N (B) @REAETT @)

(C) foraar =gom (D) TaftEh 3R wedy Ty

The World Conference on Human Rights in 1993 adopted the )

(A) Amsterdam Declaration (B) Helsinki Declaratio

(C) Vienna Declaration (D) Helsinki and Amsterdam Declaration

mﬁaﬁmmmﬁwﬁmaﬁmﬁwﬁﬁﬁaﬁaw@ﬁaﬂx%mﬁqﬁ

fore €t & e 1 sigran ? ) O
(A) 4297 @smed (B) 443t GieA (C) 73afdmeA AD) 793t Ty
Which Constitutional Amendment Act extended the reservation of sea@for Scheduled Castes and
Scheduled Tribes in the Lok Sabha and State Assemblies ? oS

d
(A) 42" Amendment (B) 44™ Amendment  (C) 73" Amendment §D) 79" Amendment

“Sveheeh” gfier Tt 3 fore Troa & fera 8 2 ®

%) e (B) wRT (©) st (D) firga
The “Loktak” lake is located in which state of India ?

(A) Meghalaya (B) Manipur (C) Mizoram (D) Tripura



(A) @HaT (B) =™ © s m%'aﬁﬁﬁaﬁmhg?
The words “Unity and Integrity Of the Nation” in the Preamble N (D) W
principle ? . M 1o promote which fundamental
(A) Equality (B) Justice (© Fratemity )
@nggﬁgz@z%mﬁmmw%ﬁ _ m::;c‘rclgmy

(A) dHamw (B) W Ei ©, _ : (D) W@
_isasoftware program that mm all the data coming through the Internet

— . (C) Malware '
(A) Antivirus (B) Cookies o (D) Firewall
ﬂﬁﬁ%“ﬂ&ﬁ%%ﬁ@ﬁﬁﬂ@@ﬁaﬁ iR 3‘15'?‘! %%‘Q?ﬂnm% 9

(B) @ISR Yeafd
(D) ST ser=fiar (fa:fram)

media platforms to communicate with an audience ?
(B) Social networking

D) Virtual interaction

(A) TR HTeas faquiT (STSTH) c(]
(C) i e s :
What is the term for the strategic use of soc{®)
(A) Social media marketing

(C) Online chatting

e T TSI 4T R ?

(A) i ®) A © B (D) HRHET
What is the capital of Bhutan ? ,

(A) Brasilia B) Porto-Novo?% (C) Thimphu (D) Sarajevo
T & e e T I AR 2 e .

(A) @=A o8 (B e Titet B

(©) 3= ST e fort o8 (D) PTG

Which is the longest River bridge in India 7€

(A) Rabindra Setu [7]  (B) Mahatma Gandhi Setu

(C) Annai Indira Gandhi Bridge ®) (D) Bhupen Hazarika Setu

T Y e e 1€ AT hel O #$ 2

(A) 3Tel 1853 (B) T 1998 (C) s 1991 (D) Ta=T 1995
When did the Government present the Kisan Credit Card Scheme ?

(A) April 1853 (B) August 1998 (C) July 1991 (D) November 1995

e it FaraTe 3 ol RT3 AT R e SRR Rl S 2
(A) m@ﬁﬁqﬁw%w@f O
(B) T Sferarel T )
(C) T wT S AT U TGP :,’g

‘ How does the partnership between India andﬂietnam change their regional security dynamics ?

(A) Through cultural integration
; (B) By imposing economic sanctions @)
4 By increasing defence cooperation and maritime security

‘ (D) Through joint nuclear programmes

- - = = —————— = -
- - e -

------
--------------
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75.

76.

77.

78.

79.

80.

81.

ST 2024 T Sl BT & fuer F Y € 9

(A) TEE R (B) HfeeTHT @S

(C) = Feriarer (D) wfmr niiedt

Who is the Leader of the Opposition in the Lok Sabha as of June 2024 2

(A) Rah'ul Gandhi o0 (B) Mallikarjun Kharge

(C) Arvind Kejriwal (-«> (D) Sonia Gandhi

T TTH G & G H § 9 iy .
(A) i gER B) Fadnad () (D) THF
Who is the author of the book “Tughluq N%a” ?

(A) AmirKhusau  (B) ZiauddinBaffni  (C) Ibn Battuta (D) Allen Zen
AU 37e7 Footl W (IRENA) 1 T3 7

(A) & (TeFR) Sott % Suair =t sy 3t 2

(B) forrereficr 22t 3 R ey st rismm fermfira et 2

(C)  IRENA T 31l hl 31T ™ T s Hfd et

(D) g s & Sfarerft S el & R Rrefer gt wem st 2

What does the International Renewable Energy Agency (IRENA) do ?
(A) Promotes the use of renewable energy

(B) Develops nuclear energy programmes for developing countries
(C) IRENA focuses on advancing nuclear power

(D) Provides financial aid for fossil fuelgbjects worldwide

A TiraTe BRI ST ¥ g & R dreT # RrfeR T ST 2

: €L =
(A) T (B) =X o (C) frads (D) UNCCT
Which organisation is held responsible foggpordinating global counterterrorism efforts ?
(A) INTERPOL (B) NATO (C) World Bank (D) UNCCT
T IATE, S, AT AT TKA | FY?
What is the GST rate for necessary items like milk products, bread, etc ?
(A) 5% ®) 18% & ©) 12% (D) 28%
EHT T ATET 5 A ST forRT oA ot A1 T 7/im & i 2024-25 T 81 T SIeT 2 2
(A) TR T B) 3ifer (C) e s (D) &g

What is the name given to NASA’s manned landing mission to the Moon which is likely to happen ©

2024-25 2 _
(A) Lunar Gateway (B) Orion (C) ApolloRegained (D) Artemis

WWWW(ITEWW@WW@WWQ 3
(A) Tt e & foguenmy fest (7

(B) &g IHW mﬁﬁq-gﬁa‘m%mﬁ:gemm

(C) I~ U ¥e renfireht o

(D) iafeer-smunia ferstet eme ‘81 o

The International Thermonuclear Experiml__nI al Reactor (ITER) project aims to demonstrate the feasibil
of : N

(A) Nuclear fission for energy productlo@g
(B) Fusion energy as a large-scale and carbon-

(C) Advanced solar panel technology
(D) Space-based power generation

free source



14 ferciert <Y fore & 3 wemer s 2 2

(A) T R feaw (B) TS werarn fem

(C©) Fgdwmfaw (D) &hfa feam

14 September is celebrated as

(A) National Hindi Diwas (B) National Voters Day

(C) World Cancer Day (D) Engincer's Day

WRAHTAT IRISAT frad gefta 2

'(l"Ah) |3 A B) s (C) T a7geEl (D) =Ty

e Bharatmala Parivoiana is related to : )

(A) Roadways Y "(‘;3‘)‘ r(\:Naafcr\\?ays §(C) Airports (D) Forestry
frferiaa & & S wder e i s & e &y 3 T e 2 7 )

(A) ®relt ®) e o¥(c) frmmm@sifen) (D) =

Which of the following festival is known as the fe?gval of ligh‘ts in India ?

(A) Holi (B) Diwali (C) Christmas (D) Eid

e e i Frerfoae & v e o o g T TN © 7 ,

(A) A (B) dara @)(C) TAH (D) EIAF
Which of the following type of tax is submitted in Indian GST? ‘ .

(A) Income Tax (B) Service Tax (C) Wealth Tax (D) Property Tax
ﬁm%tﬁaaﬁﬁﬁmﬁqa&ﬁmgﬁaﬁ&mmﬁwuﬁqﬁam ? .

(A) WETcHT TITedt (B) SETEAT TE&

(C). <TWE Tt (D) T TF i T
Who among the following first propounded the ide®of Basic Education ?

(A) Mahatma Gandhi (O(B) Jawaharlal Nehru

(C) Dayanand Saraswati ‘O%(D) Raja Ram Mohan Roy
AT &, 2020 — 21 F F-AT T T B FTG SBE AT ?

(A) " TA (B) 3TEH <](C) afireTg (D) FARH

In India, which state was the leading producer of ?_ifes in2020-217?

(A) Madhya Pradesh (B) Assam @)(C) Tamil Nadu (D) Karmataka
e “eTewReTed et & e ST’ (TR Y77 1 AT JUEH) T ARG 1 & 2

(A) HEEH T (B) 3Feulfa (©) faes (D) T =as
Who is the recipient of the first-ever ‘Lifetime Disturbing the Peace Award® ?

(A) Salman Rushdie (B) Arundhati Roy (C) Joe Biden (D) Rory Stewart
et o R e ST U € -

The Indian state with the lowest sex ratio is : 8

(A) Haryana (B) Punjab (C) Uttar Pradesh D

AT (D) F I R t;g (D) Arunachal Pradesh
(©) D=NEEM/SE®) D D= S, 5@

Density of a population (D) is :

= S(size) / W(weight =
(2) ﬁ = N((SI:urr)lber)(/ S(Sgpac):e) ) D= S(space) / N (number)
€ L (D) D =S(size)/ S(space)
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91.

92.

93.

9.

9s.

96.

AT SireRfiveht T U T o STk FRaT e o e e € ?
(A) THT FAT t SgTa §T ARt T T T Y Feh

(B) WIS Y& et Y Trarvaehar 1 O TRE GHIH Hieh

(©) ATt 3 fore o et o e e o s SRS 1 oA T

(D) e it e R e

How does the integration of biometric technology enhance India’s internal security framework ?
(A) By providing real-time location tracking cnlffincing overall surveillance

(B) By climinating the need for human sccurit }gcrqonncl altogether

(C) By reducing paperwork and streamlining aggmlstrdtlvc processes for citizens

(D) By improving identification and veriﬁcatiop?rocesses

1928 # SRSl Weamre 1 e e frm e 2 [

(A) wETHT e @ (B) WER Feenné R

(C) gz« (D) VETETS 8w

Who led the Bardoli Satyagraha in‘ 1928 ?

(A) Mahatma Gandhi (B) Sardar Vallabhbhai Patel
(C) Subhash Chandra Bose (D) Jawaharlal Nehru

2021 ¥, maﬁsz@zwaﬁmmﬁmaﬁgﬂmmaﬁmﬁmrﬁﬁm@mﬁ
o T T o |

(A) T& (B) wEET L’g (C) ufeat @ @
In 2021, Instagram was ranked globally at _,/:' position on the Internet in Most Used Soc
Media Platforms Worldwide. o

(A) Second (B) First %)] (C) Fifth (D) Fourth
= 3 rsara W amshar e fopaT 2

When did China invade Tibet ?

(A) 1952 (B) 1950 (C) 1953 (D) 1949
frerferfaa o & forer Sfiar oAt SteT o 6T el Hehoh AT ST & 2

(A) g (B) S oy (C) Hah (D) ¥
Which of the following organisms is considered & bioindicator of water pollution ?

(A) Earthworm (B) Zebra ‘;3 (C) Frog (D) Lion

IfE 3719 I ‘INFORMATION’ & 1, 5, 6aﬂ18%&mﬁwmnaﬂ%aﬁmwwaasﬁmwm

1 39 158 T ST &R 4T &I 2 <]
If you can form exactly one meaningful Engll% }vord using the 1 5th eth and gth letters ofthe WO

‘INFORMATION’, what will be the fourth lettefig) that word ?
(A) M B) T (C) R D) 1



o7, R e i & e g e g o e 1 T HHIE R

TES ; T8Y 7Y
(A) T IR ; | (1) HAAEAN IE6L) e
© W:f@mm) (1)) 3nnm . i)
me t}}e given options, find the pai which 18 ,‘||.,ys|| (0 the pglven pah
E;‘;Jec:le : Trajectory ! () Shooth
eroplane : Route "3 (M :qm(‘"l'::l:"(';"l',:l'Aimmph.,w

(C) Ship : Knots

g, R e 3 Ryt s areh A a1 ol

farrdtar frem et iy & 5006 i & 2 '

(A) 4.8 et wfader | an 4.0 Bl ld s
D) .5 Fl ufi s

(C) 5.2 fomdt wia v A (
If the speed of a boat moving against (he current 18 |8 knv/hr, what is the speed of the stream if the boat '3

speed downstream is 50% greater than its speed upstrenit 1
(1) 4.0 kmph

(A) 4.8 kmph
(C) 5.2 kmph (D) 4.5 kmph
99. 8 Tiex IR 3K 16ﬁaiﬁ1§aﬁﬁﬁm;ﬁmw%?

What is the area of a triangle with base 8 meteroipd height 16 meters i

l'.vj
sqaefh, b vt R R e o) faon if e 61 A gl

A) 32m? ® s L © 1 m’ (D) 64 m’
100, Y, XFEAEAPFEARIZ ¥ ¥ Sqeafim | zf R RmAP Y
(A4) S B) w08 (©) I (D) =g
Y is in the East of X, which is in the East of P. Z<11 in the North-West of Y. In which direction of Z is P ?
(A) North-East (B) South-West [ | © North-West (D) South-East
101, ST HEAT I HC | Q)
Find the dissimilar number.
9271, 8482, 7633, 6724, 5745.
(A) 5745 (B) 9271 (C) 7633 (D) 6724

102, ﬁmﬁﬁaﬁ%aﬂw—mmﬂw%mt?

Which of the following numbers is different from the rest ?

13,17,23,27,29 ?S)

A) 13 (B) 17 w () 23 (D) 27

103, @maﬁm%wﬁzooﬁwﬁsommﬁi}ﬁﬁﬁ 2

| , ! 0 e R | e St 3 T S A F

St 50 Fepeftyeier b nfer & )
g@ri(:?ssﬁﬁ;m “W"%'yﬁ?%m«mm&mmmmmh

04,15

O e e ] " 4,15 Refyster
@y P o818 Rafiater

A man travels the first 200 km of his journey y
200 km of his journey at 50 km/hr. What ix hix verng ) kin/he,
¢

(A) 61.53 km/hr
(C) 58.15 km/hr

ke Due to bad weather he travels the next
" peed Im' the et 400 Kim ot his journey ?
)04 1S K/l

(D) oM.15 K/t




104. T T AT 3 39T T g Y "ﬁﬁﬁémaﬁ%éﬁﬂwmﬁaﬁﬁi&ﬁmﬁ%tu

Toreraht aafit oft £ 109. f:
(A) wRH (B) FAH (C) Jaeht e (D) fd (
Pointing to a photograph Daisy said, “I have no sisters but that man’s mother is my father’s daugh‘q‘. (
Whose photograph was it ? ) :
(A) Son’s (B) Daughter’s ol (C) Her own (D) Husband’s ‘
105. 0l 9farm 1 3 20 el e, R e e s oo et wreft | e e et v gt 3T 20 e ey

am#am%aﬁus%magmﬁaﬁtmﬁwﬁlmamﬁmﬁamﬂ%? 110.
@) (B) ufm g (C) aforqd (D) I

Rani went 20 km towards west, then turned left and went 20 km! She again turned left and went 2 kn
She took a 45 degree turn towards her left and weR straight. In which direction is she walking now ?

(4)  East (B) West Ll South-East (D) North-East
106. ﬁ”%%ﬁm?%qaﬁtﬁﬂémﬁ%mm@msﬁﬁqmﬁmmmm:
| 3F 2 5 7 8 9 [ 46 | 3 1 111.
ELES M| R | T|B|W/[KI|[D]|N/]|J
I -

L A Ee & et 3R sifew 3t ofe frwm sim & QY AT 3 s % =g 3 ifea T AT IR |

2. I HEAT 3 Toet S 3ifow A o7 T 37 pag ST E 22 % wq F ifed Rear SET IR |

3. IRy oK sifom oiept F & ww fywm 2 ol T B, d U 3w A ‘Q’ I Iifem iF A W Fm
T Fifed FETRT|

(A) ZTWMNZ (B) KTMWNZ g (C) ZTMWNZ (D) KTMWNB
Read the following table and find the relevant cod¢ffor ‘472938’ as per the conditions given :
Digit 2 5 7 8 o1 4 6 3 1
Letter code M R T B V\@ K D N J
Conditions :

1. Ifboth the first and last digits of the number are odd digits, then both are to be coded as ‘S’.

2. Ifboth the first and last digits of the number are even digits, then both are to be coded as ‘Z".

3. If one among the first and last digits is odd and the other one is even, then the first digit has to b
coded as ‘Q’ and the last digit as ‘W".

(A) ZTWMNZ (B) KTMWNZ o (C) ZTMWNZ (D) KTMWNB

107. %@ 15, 36, 63, 96,_13317@11@%%@
Find the next number in the series 15, 36, 63, 96, o
(A) 122 (B) 128 o (O) 135 (D) 145

108, few g e i, fig :: o ol i orerl o6 < @ & el e & R U | et ¥ v e otk 3w siaia
fepedt 3 & 0 3 ol oft 7w T & | e e e R
In the given question, there are two sets of letteg)to the left of the sign :: which are connected in s0™¢
way. The same relationship obtains between the third set of letters and one of the four alternatives under it
Find the correct alternative.

18120 : RAT :: 18914719 : ?
(A) RINGS (B) RINCH (C) RIMBS (D) RICH Y.

_____.._____________.._..____—___..-——_-—_____-__--_-_-_-—---———--__ ———



110.

@ D.zU-24

109. T g Jma Aifvg )

(A) % : R (E) T
(C) g3 : g (&) oo( ) ¥ A
Find the odd pair.

O (B) Cow: Calf

(A) Dog: Puppy e
ol (D) Sheep : Lamb

(C) Tortoise : Turtle
T qRam H, sl we= p, Q, R, S AN T § | paﬂr&?'aa"%ﬁﬁmommm P, R 1 5 421

& R sl 38 s T, s AT 21Q, TR b2

(A) §® (B) smft Cle) #& (D) =%

In a family. there are five members P, Q, R, S 4R T. P and Q are a married couple, Q being the female
y daughter is S. T is the mother of S. How is Q related to T ?

(C) Daughter (D) Daughter-in-law

member. P is the only son of R, whose onl

(A) Mother-in-law (B) Sister-in-law

, 111. ﬁw%%aqé.aégw%wﬁmmmmmﬁﬂmm% | TS T 3T AT A

I ATYR T I T S AR |

The following pie-chart shows the perc

book. Study the pie-chart and the answer the que@n based on 1t.
&

entage di$tribution of the expenditure incurred in publishing a

oJ
st TeaF 3 YHEEA § € 910 A= 99 oy arious Expenditures (in percentage) Incurred

@fasa 4) 4 in Publishing a Book
®
TER LEWISIUG Promotion\ Printing Cost
anTa 20% Cost 20% (s
10% &«\ 10% & .
e
faedt &ég\ o Royalty 4 é\s@ o
15% o 15%
I TG 8 ) Paper Cost
foreeart 25% 3 Binding <o
20% ol 20%

ﬁwwﬂmiﬂm@am%“@ﬁmﬁmmaaﬂramu;mzso%,awgmaﬁr
@gﬁﬁggmmaﬁmw%?

. is set at 40% above
If the marked price of a book is set at 40% above the ¢oq price, and the marked price is T 280, what is the
cost of the paper used in one copy o thie frook 7
760
(A) T40 ®) © =30 (D) %50
--------------- I



112. ﬁa&nﬁmaj@m%mmmmm,

HDYSMWNBQPOCRTBLZVEGUF o3
0 e 8 2 e e v 8
(A) B3RQ (B) DaRy e¥C) U3IMF (D) V3RE

Answer the question according to the letter series g]‘,é/cn below.
HDYSMWNBQPOCRTBLZVEGUF N

Which two neighbours in the given arrangement aLe]'arthest in the alphabetical order ?

(A) BandQ (B) DandY @)(C) UandF (D) VandE

113. 30 M 3 T W H, 40 1 9 v 8, 30 1 H) e 2, 3ik 20 Fy 7@ SFR I 76 E, A
FIT I THE T & 9
If in a group of people, 40 like tea, 30 like coffee, and 20 like both tea and coffee, how many people |,

only tea ?
(A) 20 B) 10 ZI‘.g(c) 40 D) 15
o3
Y. G. 1147 118 Terisr Oy o

mﬁw@m)wwaﬁmaﬁmm%@%maﬁmmmﬁqﬁﬁmﬁ%maﬁm
et oft ar g oft 9 o ofitar it s )

¥ T e B S A AR g

Tehell T, e ol T IR W g R )

A1 O, o v, 3 & s v deam

TR et oot Jweht oft STRrey wart oft

T AT & e g Gt et off

G T R a8 at gt et T ot | o

SIRCaN i ) _

e ?;mmﬁm W(B) BRI g:’(C) TRt (D) uififs
115, g it e 7 el T ol S e i a8

(A) R (B) T et <](C) NAREE LS (D) w3/
116. 3 TRITT T Ge 9 & Fhav @ : 1

(A) @rE R TH @(B) 1857 T T

(C) 3D T ATHAT (D) WERTS; FT <t

. THFAAT S FaREt AR
v fi) et (B) PRFMNEE  (C) ATV (D) wirTg

118. =9 Hiar & s frar @ R

(A) wie (B) T (C) 4 D)
119, Ry et # & R w7 Sl FH-ATE 2

(A) Ty (B) ferwam ©) fagdt (D) e )
DzUsa T T



j : - 51 W SRR |
420, ¢ a;aamﬂﬁ'saamﬂal?mﬁu””'“"
.120 ('%'3 bt ) w.\lfﬂﬂ"“ﬁm (C) Iufry
‘ e AR ey e ¢ (D) =
21 |937ﬁ‘m(a:%m)‘a:%mm%?{3‘:;i‘ Oy T 7
-' (A) ffer amt (B3) Hird ;3 Pretrer N ——
122, ﬁm%%ﬁﬁﬁﬁ?-mmﬁﬁﬂw‘%? o8 () fraz
NG (B) <& (D) o=
g3, e RN L‘J(C) S
(A) 3 (B) 4 ) (D) 6
(24, T O T IeAROT WM R :
W= (B) &S (C)_ S (D) U
125 -mﬁmwﬁaﬁaﬁaﬁmﬁﬁrwﬁﬁm‘M’Www:mf%?
i (A) WSTES (B) T (C) ¥« & (D) E
126, T AT MR R ad
L @) ®) ffw O T (D) wa
- 127. FaTehd § THE R : ol
’ (A) TR (B) r=EvE odj(C) FHURT D) &1

T
: & [ l®) magﬁaé%mmqﬁﬂ\

(A) S E e H T | .
(C) TS TR ERT BT AT <l T | @) (p) et TR TG TR |

| 129. Epferiae # & gfeeiT s BifeT :

| (A) =TEd (B) T . (0) ¥EW (D) RN
130. ‘m-mqﬁqsﬁawﬁa@’%%'z@w%:

(a) fIRR B) frad oy ©) T (D) Tsq
131, i T/ee T GRS TR ? ®.
L w (B) STH®R © (D) v
132, i <6 ST (FETAY) 6 TS o)
() S ® wxawm o) o (D) THTF
133, Preferfae i & e o fam e # 2 [] ®
@ () ®) () Do () © (1)
134, iy _ SRy TTo3-g 1 WY forhed AT
. » GRS (B) HR-TM¥fie © For_d (D) ST
135, ﬁmﬁﬁaﬂﬁﬁam%ﬁ‘gamanmaﬁﬁm;
»' (A) # 77y <Y A FATE | ®) ﬁnﬁmmmil

() FmrHAERE g (D) # s T T 2

T m=——- ____———""



136. ‘I — I’ 5T T HET AT R _fnfa
(A) Tfg et (B) w3l (C) TG — TG @)

137. TR T Franf e

o .. v g
(A) TREH®E  (B) SEEATE () (C) I A (D) M e
138. ‘i — FeTifr yroa-gm 7 EEt o £ o3
(A) & - TN (B) "HF-¥FHEe o8 (C) e -gFae (D) oHIEE — TP
. <
139. *m—m*m.wﬁ*m’wwméﬁw%? ‘
(A) TR (B) 3 § © T (D) SR S T
140. T Tt Y eafa} 1 ITERT R
(A) iR ®) (©) T (D) et
141. ‘S8 AR 8, 1T I8 TR |” 30 IR § HH-97 74T 2 2
(A) RO (B) TR (C) TFhaaras (D) HRUETS

142, ferpar = g3 Reg T, mﬁ?ﬁﬁﬁfaW|%uﬁw‘rﬁugﬁm%:
(A) SR ST B) FRIfe sEER 5 (C) To IR (D) ferararT SR

143, Frera 3 & R 8o iy e R e et e S 2

A) fEEmr B) fogm <] (C) | qar (D) Tifed
144, SITS I I TEl Tgars &9 el fehed = ; | ' .

(A) wagat ~(B) TaTAl ®© = (D) Tagar
145, oo R FEA & 2 .

(A) A (B) SHSHI o FHE

(C) TUil & afeed &g il (D) 9Ol o TR T

146, ST SEET" TETa T aey 37 18 2
(A) Eﬁs"rmm (B) amz#ﬁrﬁgrzﬁmo(C) mlﬁaﬁaqfﬁm (D) ST TR T

147. “ORX 1 @& T 1T ST HTeTh BT & mf‘q%a’l%

(A) RETHTREX o (B) mmﬁamm
(C) TR Y off Tt el <](D) WA T 31T SR
148, referfaa i & o wee 8 - U
(A) ST (B) & @ ) g= (D) FH
149, w3y ety & ST el 7T & |” For el T TR @ 2
(A) I RY A (B) emTRH
(C) 3w ST o oW &t (D) ¥R
150. FafREiaFa e
A) @ B) & (C) ¥ (D) Sa )
DzU24 T T ame 23 ef2a T



